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Marking Scheme

Question 1

	
	10 and 90
	12 and 88
	15 and 85
	20 and 80
	25 and 75
	30 and 70
	35 and 65

	2θ
	144
	143
	117
	94
	76
	57
	43

	θ0
	72
	71.5
	58.5
	47
	38
	28.5
	21.5

	Cos θ0
	0.3090
	0.3173
	0.5225
	0.6820
	0.7880
	0.8788
	0.9304

	Time for 10 oscillations  t (s)
	9.94
	11.00
	12.13
	12.97
	13.91
	14.36
	14.65

	Periodic time T(s)[image: ]
	0.994
	1.100
	1.213
	1.297
	1.391
	1.436
	1.465

	[image: ]
	0.988
	1.21
	1.47
	1.68
	1.93
	2.06
	2.15


[image: ]
(ii) Determine the value of T2 at the point where the graph intercepts the y – axis.		(1mk)
	4.0 X 10-1 S2	(0.4 S2)

	(iii) Given that the value of T2 at the point A where the graph cuts the y – axis is given by
		A =[image: ], use your result in (ii) above to determine the value of K.		(3mks)
			0.4 = (0.6 X 3.142)/ K
			K = (0.6 X 3.142)/ 0.4
			K =1.8852/0.4
			K = 4.713                    Deny 1mk if the answer is not atleast to 3 d.p.
Question 2
d)	Table m  I =0.44 A
		    V= 1.0V
	L(cm)
	10
	15
	20
	25
	30
	35

	p.d (v)
	1.0
	1.1
	1.15
	1.20
	1.25
	1.3

	Fl (A)
	0.44
	0.3
	0.32
	0.28
	0.26
	0.24



e) slope = ΔV  =1.3 – 1.1          =     0.2     V/ A
ΔI       0.24 – 0.36           - 0.12

			= - 1.67 V/ A

f)		From V = E- Ir                     V = -(r) I + E
		
		(i) E                    vertical intercept 
			
		    E = 1.52V ( students values)

(ii) Slope = - r from the graph
· 1.667 = -r
   r =1.667Ώ

   g)		d = 0.28 mm ± 0.01mm
		    =0.00028   or    2.8  x 10-4m
c) F = 1.0 A
V = 0.04 V		 R = 0.04   = 0.04 Ώ

                                                                  1.0
j)		R = 4ρ		ρ = Rπd2
		π d2	    4

		ρ = 0.04 Ώ ( 0.00028)2
				4

		ρ =( 7.84x 10-10) Ώ m
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